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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% SFI07T4E04 7 18 H eI Dt e/ 61 ~ (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

xR & )l 10. 00 [ #H%f 300 3, 000 1,512 1, 404 1,188
IENE w5 10. 00 | #H%F 286 2,860 3,456| 3,190 1,080

T D O JE 12. 00 | #H%f 23 276 950
F 9 NAE O JE 0. 20| FHf 1,130 226 119 115 76
H % i 3. 00| FHxf 461 1,383 1,728| 1,276 756
i A o 1. 00 | FH %} 215 215 540 532 432
% )| s.00|fxr| 20 100] 1,890 1,485| 1,080
AN B 2. 00| FH*} 147 294 972 819 594
[ wm s | 5. 00 | AH%F 443 2,215 1,620 1,394 1,080
T g s.o0[ /A%t 8| 10| 1,836 1,634| 1,404

~7 k= |k F 3. 00 | FH %} 41 123 1, 404
IR Ak L 2. 00| FHxf 37 74| 2,484 2,119 864
T e S 10. 00| AHxf 490 4,900 3,888| 3,635| 2,376
£ # biEE | 20. 00| FHAS 115 2,300 3,456| 3,409 2,808
%o | 10.00| M| 262| 2,620| 2,376| 2 104] 864
LA A It fE 10. 00 [ #H%f 730 7,300 2,052 1,673 972
=1 & & 4, 00| FH*} 589 2, 356 1,512 696 540
Tuyal— s | 6. 00| FH%F 262 1,572 4,158 3,469| 3,348
& Il .00l fxr| 5] o] | 3,780

L xon & A 4. 00 | FHxF 6 24 5, 940
AMEE (i 0. 10| #Hxf | 2,550 255 162 106 65

ZDEH £ B 0. 20| FHxf 1, 200 240 59

LU £ B 0. 20 | FHx} 150 30 81
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P g SR

ESR S TR = 1 =i Q1 IV NI )
RHE SFI07T4E04 7 18 H EFER S 28 b (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]

5 U H & 10. 00| FA % 116 1,160| 5,184| 4,440| 3,888
Yata— HF & 10. 00 [ #H%f 40 400 5,497 4,809 4,120
bHFEED & [ 0. 27| FHxf 1, 020 277 378 349 324
I X & I 0. 25| FHxf 3, 857 970 486 308 162
BHDY S 5 0. 25| FA%f 1,239 312 346 276 140




